Unit 2.2 Assessment
1.  Compare the results from the current scenario (post-expansion with LID control) with the baseline scenario (pre-expansion) in Table 1 or on the Results form. Which values are constant?  Which vary? Do they make sense to you?


2.  For those that vary, which increase post-expansion? Offer reasons for the increase.


3.  For those that vary, which decrease post-expansion? Offer reasons for the decrease.


4.  The objective of this part of the exercise was to minimize the hydrologic impact of development (i.e., no increase in stormwater runoff).  Was more than one LID control required to achieve this? List those you used with a brief rationale.  


5.  Consider your use of LID controls from the perspective of a consultant evaluating their efficacy or the model results or a builder or property owner in the neighborhood evaluating their cost. Would your choice of LID control(s) be different if you repeated this exercise?  Explain.


[bookmark: _GoBack]6.  Review the components of the hydrologic cycle in Unit 1.2. For one or more of your LID controls, to which component of the hydrologic cycle is it analogous? How does it mimic the process or component?  


7.  What ecosystem services from Unit 1.1 do the LID control augment?


Table 1.  Model results for different land cover and LID controls related to the Thomaston Trail Expansion plan. 
	Statistic
	Pre-expansion 
	Post-expansion without LID Controls
	Post-expansion with LID Controls

	% Runoff
	
	
	

	% Infiltration
	
	
	

	%Evaporation
	
	
	

	Average Annual Rainfall (in)
	
	
	

	Average Annual Runoff (in)
	
	
	

	Days per Year with Rainfall
	
	
	

	Days per Year with Runoff
	
	
	

	Percent of Wet Days Retained
	
	
	

	Smallest Rainfall w/ Runoff (in)
	
	
	

	Largest Rainfall w/o Runoff (in)
	
	
	

	Max Rainfall Retained (in)
	
	
	



